
https://www.passapply.com/a00-212.html
2024 Latest passapply A00-212 PDF and VCE dumps Download

 

 

 

A00-212Q&As

SAS Advanced Programming Exam for SAS 9

Pass SASInstitute A00-212 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/a00-212.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SASInstitute
Official Exam Center

 

 

A00-212 VCE Dumps | A00-212 Practice Test | A00-212 Study Guide                                1 / 3

https://www.passapply.com/a00-212.html
https://www.passapply.com/a00-212.html
https://www.passapply.com/a00-212.html


https://www.passapply.com/a00-212.html
2024 Latest passapply A00-212 PDF and VCE dumps Download

QUESTION 1

Given the following SAS data set ONE: ONE REP AREA COST SMITH NORTH 100 SMITH SOUTH 200 JONES EAST
100 

SMITH NORTH 300 JONES WEST 100 JONES NORTH 200 JONES NORTH 400 SMITH NORTH 400 JONES WEST
100 JONES WEST 300 The following SAS program is submitted: proc sql; select rep, area, count(*) as TOTAL from one
group by rep, area; quit; 

Which one of the following reports is generated? 

A. REP AREA COUNT JONES EAST 100 JONES NORTH 600 JONES WEST 500 SMITH NORTH 800 SMITH SOUTH
200 

B. REP AREA TOTAL JONES EAST 100 JONES NORTH 600 JONES WEST 500 SMITH NORTH 800 SMITH SOUTH
200 

C. REP AREA TOTAL JONES EAST 1 JONES NORTH 2 JONES WEST 3 SMITH NORTH 3 JONES WEST 3 SMITH
NORTH 3 SMITH SOUTH 1 

D. REP AREA TOTAL JONES EAST 1 JONES NORTH 2 JONES WEST 3 SMITH NORTH 3 SMITH SOUTH 1 SMITH
NORTH 3 SMITH SOUTH 1 

Correct Answer: CD 

 

QUESTION 2

Which one of the following statements about compressed SAS data sets is always true? 

A. Each observation is treated as a single string of bytes. 

B. Each observation occupies the same number of bytes. 

C. An updated observation is stored in its original location. 

D. New observations are added to the end of the SAS data set. 

Correct Answer: A 

 

QUESTION 3

Given the SAS date sets CLASS1 and CLASS2 CLASS1 CLASS2 NAME COURSE NAME COURSE Lauren MATH1
Smith MATH2 Patel MATH1 Farmer MATH2 Chang MATH1 Patel MATH2 Chang MATH3 Hiller MATH2 The following
SAS program is submitted: Proc sql; Select name from CLASS1 select name from CLASS; quit; The following output is
desired NAME Chang Chang Lauren 

Which SQL set operator completes the program and generates the desired output? 

A. UNION ALL 

B. EXCEPT ALL 
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C. INTERSECT ALL 

D. OUTER UNION ALL 

Correct Answer: B 

 

QUESTION 4

The SAS data set ONE has a variable X on which an index has been created. The data sets ONE and THREE are
sorted by X. Which one of the following SAS programs uses the index to select observations from the data set ONE? 

A. data two; set three; set one key = X; run; 

B. data two; set three key = X; set one; run; 

C. data two; set one; set three key = X; run; 

D. data two; set three; set one (key = X); run; 

Correct Answer: A 

 

QUESTION 5

Which DICTIONARY table provides information on all the tables containing a variable named LASTNAME? 

A. DICTIONARY.COLUMNS 

B. DICTIONARY.VARIABLES 

C. DICTIONARY.MEMBERS 

D. DICTIONARY.TABLES 

Correct Answer: A 
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